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2P
DR enieskacE T A e ? (A) DMZ (Demilitarized Zone) (B)
Internet (C) Intranet (D) Extranet
'f 51] i® F' » 7 & ARP #5» (ARP spoofing) ehd it = 34?2 (A) @& * B2
[P x 2z MAC (B) #&* DHCP (C) #* 1 X44 (D) & * WAF
R =2 11011110 @+ e 5 >7 (A)226 (B)234

(C) 222 (D) 166
SEPRAZfLRRY D IP He o ’jf‘IFLiq” WEpe 77 - BRI
(Protocol Number ) @ p* 4§ = eniE 5 1o A ot 44 ¢ G P fips 2
3¢ ? (A) TCP (B) UDP (C) IGMP (D) ICMP
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TAHRKAY P ATHEALPN PERPRIEFFPN P 2 ? (D)
e W@plr Vs (Packet-Filtering Firewall) (B) Jiet&iip Vg
(Stateful InspectionFirewall) (C) #*32@ &R % (Proxy Server) (D)
Jerbt 25812 L4y (Web Application Firewall)

54 T AN 4ok B-HUB 3 < Switch {8 # AR FFERHF LD
P o TR AT LD AR o

//

RS

(A) The number of collision domains would remain the same (B)The
number of collision domains would decrease (C)The number of
collision domains would increase (D)The number of broadcast
domains would decrease
PREXMATEFAL > FAREER O B M B 3
TP RIL ? (A) RRA A R TR T ERR R 0 (TR
H OB BRAFEFRE s g A W T A W1 R Ak
FRE o mRE AR R HATE R F R F (O) &k
F- SEATA A AF W R A BT MR DIATH B AT AR T E 0T
(D) HhAGE FEFHERLIF
Bt TCP o Rehfhft» T Algcat e 2 Fg? (A) FEFFTH BE2 TR
(B) T Ei-BEpFra 727 L3 (Hand shaking) (C) B i% 4 4 4535 p
P eRREHBE (D) BEMHEFL AT A BTIR UDP §E
TrlPHE S ARP R ERFH A 2 (D) MEH Lay er 4 FiRA P (B)
FARBAALFSERS B IP =u (CO)* w4 IP =xe MAC =
WD) #¥EF Lay er 3 B ez g o
B>t % 45 Nl 5] (RAID, Redundant Array of Independent Disks)
¥ A RAID 5o Tl A RA? (A) R4 FH | AR
(B) &% & 5 spadr (C) #Br»zact RAID 1 ™ (D) Z4sa 4 v
RAID 0
TR IP ma T o A frib A e *
(A) 191.168.10.2/23 (B) 205.7.8.32/27 (C)127.0.0.1
(D)224.0.0.10
FFARD ARG P R 2P T RESR G 300 F pE o F BB
Bbo B3 50 pag o p w2 R G - B Class B¥ g * 5 R
TR G AL TR s 0P ek E K2 (M) 255.255.255.0 (B)
255. 255, 255. 224 (C) 255.255.252.0 (D) 255.255. 255. 128
T FR— A [P EF e err? (A) 10.172.13.65 (B)
172.16.223.125 (C) 172.64.12.29 (D) 192. 168. 23. 252



B gmpespaes 20 AP RE I - S TEES L M B
%_(Spanning Tree Protocol, STP) ##|5c% » #H 2 E4& T k3 ¥
SRETAFARE? (A) A HHFO#EE (Root Bridge) £
Sifand > TEEAG RROAEIXIFH TR (B) X I gHh
% # % (Root Bridge) #x* B *x;' i /T B+ (Open Shortest Path
First, OSPF) ¥z (C) #Hp Mpp? 975 % - A L BLA4F40 I 0

(D) EAFAR I s A, & ST IR ARSI o Bk N SRR
40. 1T IR ER Y o switchl BIEATE 8 - ipF i d hostA B TR Y
hostC > 3F* switchl ¢ 4ci@ 3 4 MAC Table % 3

HostB
Fa0y5
Fa0/4 Fa0/3
% 2 s
HostA a0/2 %ost c

MAC - 000A.8A47.E612
IP—192.168.23.4

MAC - 000B.DB95.2EE9
IP-192.168.23.12

&

HostD

(A)Switchl will add 000(A)8A47.E612 to the switching table
(B)Switchl will add 192. 168. 23. 4 to the switching table (C)Switchl
will add 192. 168. 23. 12 to the switching table  (D)Switchl will add
0000B. DB95. 2EEE9 to the switching table
41. % T B s0/0 i FAAR L5 [P ek 5 T A4 P R
S0/0

&%

(A)Addresses in a private range will be not routed on the Internet
backbone. (B)Only the ISP router will have the capability to access
the public network.
(C)The NAT process will be used to translate this address in a valid
[P address.
(D)Several automated will be necessary on the private network.
42, FEREFERR AAANAHEITH LHE BRI LERAZTREE SN
g T Avi- 48 °? (A) # & # & (Incremental Backup) (B) E & & i»
(Bigdata Backup) (C) # £ # i» (Differential Backup) (D) = 2
ff i» (Full Backup)
43, ZZ TR RTHEE 48T F P MR 7 (A FiFTE
(B) o (0 =ERE D) BHit
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2% ¢ SW1 r’E’SWZ"’ FIRKRT RN ENR e g Ee
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(A) Hosts 2,3, and 4 will receive the broadcast.  (B) Hosts 1, 2, 3,
and 4 will receive the broadcast. (C) Hosts 2 and the Fa0/0
interface of R1 will receive the broadcast. (D) Hosts 1, 2 and the
Fa0/0 interface of Rl will receive the broadcast.
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Ty TR T R HAT WAN (BRI 0 T R AT SR B R

fa0bi

F
e (A) /23 (B) /24 (© 725 (D) /30
F4 TR R 0§ T d HostAix PlHostCRe » Fol ¢ chp dhimp &
P ?
=
L #
EO / k"-..,.\
swieen ¢ Qé@
\\‘ HostC S
N Server
& &
HostA HostB

(A)the IP address of Switch 1 (B)the MAC address of Switch 1
(C)the IP address of Host C (D)the MAC address of Host C

RBE AP FEE N DD P FRRR %%’E’ - c R eE A S
%_ (Spanning Tree Protocol, STP) ##lsc#¥ > F R Z L& ™ k&3 ¥
RRETARERE? () AXHHOILHE (Root Bridge) #c* &
for > FEE G RROEIXIEFOT R (B) X HHaI LR
% (Root Bridge ) kx * B *x;\ & ®p /= g4+ (Open Shortest Path First,
OSPF) t2 2 (C) ¥ FRpre? 73 % - K 2 BLAF40 b st (D)
T AF AR b s B A A ST PR AR ST o B P N A i



50. T Bl s RJ4D ELAA BpandRE o R N R T LG RITRE R Y

Pin Color Function Pin Color Function
Number Number
1 White/Green TX+ 3 Orange RX+
2 Green TX- 6 White/Orange RX-
3 White/Orange RX+ 1 Green TX+
6 Orange RX- 2 White/Green TX-
(A)PC to router (B)PC to switch (C)Server to router (D)Router
to router
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